ER15F4A27 BT
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LHETOREER REERRUERER(EE

LAFEEHR BEEHN BER
5 53,494 A 25957 A 48.52%
8 54,395 A 29,131 A 53.55%
=11 107,889 A 55,088 A 51.06%
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1 39,153 [ | I BHERIE® E3 =Pt
2 11,332 A= & HARLER 50y EE

REHRI 55,080
AOEE 50,485
mOIRE 4595

ITRTESER —ESE

THTOAREEH EEERRVEER (EE)

LAFEEHR BREEHN ‘BER
5 52,103 A 25938 A 49.78%
8 53,359 A 29,110 A 54.55%
=11 105,462 A 55,048 A 52.20%
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It | BEH BHES ER FRLO| gy
1 2,526 28 —5 TP 37 43
2 2,440.695 =l FEHTF N o0 LE
3 2,417 fBH — % N 23] =P
4 2,210 BER — TS o0 =P
5 2,001 He  E=N N 23] =P
6 1,960 T K N o L&
7 1,872 ne E® HERTR %) 43
8 1,858.791 e % BE 23] =P
9 1,850 INFR EF N 23] =P
10 1,850 A i BALER 23] =P
11 1,752 L% HH 30 27 43
12 1,712 Al &t mAE 27 =P
13 1,694 A EH BE 23] =P
14 1,679 B R i mAE o0 =P
15 1,659.006 = -1 TS %) 4%
16 1,619 "R EF BAfER 23] B3
17 1,583 X0 #ExX TP %) P
18 1,486 mEx x5 TS %) P
19 1,392 F N 3 BE T =P
20 1,366 f% @ AR BE 23] =P
21 1,295 NE 25 TP 27 4%
22 1,292 NIR$5 BAEA TP T P
23 1,273.933 Hik Bz TP 27 4%
24 1,229.502 RHI D TS 27 4%
25 1,227 hE OB TP %) 4%
26 1,218.497 & 5 h TP 27 P
27 1,214 71N B mAE 27 =P




28 1,187.505 N IR 1= ®BiE 23] L
29 1,129 mAa BE BE %) 4E
30 1,123 AL EiEexX TP ) 43
31 1,121 w/A BEAL ®BAE 23] 4
32 1,089 tH A BE %) 4E
33 993.066 HiR EH R 23] IE
34 969 Rl - ®BiE %) IE
35 597 N % i} BE # IE
36 120 LR 1EXE ®BiE ) IE

SRR 55,044

HMLE 54,006
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